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The polynomial x> — 2x + a, where a is a constant, is denoted by p(x). Itis given that (x +2) is a
factor of p(x).
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4 The polynomial x* + 3x> + @, where a is a constant, is denoted by p(x). It is given that x*> + x + 2 is a
factor of p(x). Find the value of @ and the other quadratic factor of p(x). [4]
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9  The polynomial ax® + bx*> + 5x — 2, where a and b are constants, is denoted by p(x). It is given that
(2x — 1) is a factor of p(x) and that when p(x) is divided by (x — 2) the remainder is 12.

(i) Find the values of a and b.

(ii) When a and b have these values, find the quadratic factor of p(x).

© UCLES 2011 9709/33/MIJ/11

PO = 0o +ba >+ Sy -2

fad*ov v —~| Divicoy: -2
Yx -] =0 Renvaindey- 12

2 X — 2
X =2

(L) =© p(2) = 12>
c=Q (3%)31‘ b(ﬁ)ﬁ—5(l>'2 |12 =& (9—) g b (9_)2-\- 5(2)-2

2
&+ b 5 _2 =0 [L:%{A-\-L\B-\—\D"l
A Y4 = ga+4b
ot+t2b +20—-1(L =0
A +2b = —Y 2a+tb =1

0. = -2b -4 2(-2b-4) +b =)
~Uyb — R thb = |

-3b =4

o= —2(=3)—Y =-3




) Pex)=Ax>-Fo>+8Sx -2 Fackor: 2X 1
Mak =3 Ln=1 Rem =2
ox? -2 +SA -2 = (2*9(_‘—1)

Max powey | Constants |l +onm o W(lfdo\le
> Eexm l@ram
25%= 20| 9 = -] C —3x* = b —OxL”
2 =20 -3 = 2b —a
= c=2 —2 = 2h—
—2 = 2h
b= -

(zz=1) ( an® thx+c)

a=\ )b:-—l)C';l
(2x-1) (2 —x +2)

) Al

P = (2x=) (xexs2) Qoo{'{

ox—) =0 7@—(1-1—2 =0 Px) = (x-0)(x-2)(%-5)
x =1 : 0= (-V) ('X.."'Z—) (‘l'—‘S)
> ' Roat.
N‘oreoJo 5 = | )2:2 ).7:5



Q P(x) = 8% +b* - 3x -~ has gacter (1)
Fad_m‘éﬁ p) Com)ole’l'd\tj.

B 4 bo—3x —1 = (1) 7
Max Constnt | pud Toaom (= - teaw)
81,3;‘@%3 -1 =]cC -3% - rx + b
-3 = Ctb
A= c =1 -3 = - 1+b
b=-2

Orx) = (xt1) (EX>—22 — J)
(+) [ 8 — Uz +2x— 1 |
(x+0) [ 4x (zx—i) + (9_1'-/)]
pr) = (k1) (4xH) (2z-1)



